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Eight persons F, G, P, R, M, N, V and T live in eight different floors. Lowermost floor is 
numbered 1, above the floor is numbered 2, and so on till the topmost floor is numbered 
as 8. Each of them is in a different profession. Their professions are Lawyer, Teacher, IAS, 
Student, Doctor, Accountant, Commissioner and Manager. All the above information is not 
necessarily in the same order.
M lives on even numbered floor. The one who is an Accountant lives on the second floor. 
Two persons live between R and the one who is a student. R lives on even numbered floor 
but above M. Three persons live between G and the one who is an IAS. M is not an 
accountant. As many persons living above the one who is a doctor is same as below the 
one who is a student. Only one person lives between T and the one who is a teacher. The 
one who is a lawyer lives immediately below N. As many persons living below N is same as 
above the one who is a teacher. The one who is a commissioner lives immediately above 
M. Neither F nor V is a lawyer. F lives above V.

आठ व्यक्ति F, G, P, R, M, N, V और T आठअलग-अलग मंक्िलों में रहिे हैं। सबसे निचली मंक्िल की संख्या 1 है, मंक्िल के ऊपर की
संख्या 2 है, और इसी िरह सबसे ऊपरी मंक्िल की संख्या 8 है। उिमें से प्रत्येक एक अलग पेशे में है। उिके पेशे वकील, शशक्षक, आईएएस, 
छात्र, डॉतटर, लेखाकार, आयुतिऔर प्रबंधक हैं। िरूरी िहीं कक उपरोति सभी िािकारी इसी क्रम में हो।
M सम संख्या वाली मंक्िल पर रहिा है। वह व्यक्ति िो एक लेखाकार है, दसूरी मंक्िल पर रहिा है। R और एक छात्र के बीच दो व्यक्ति
रहिे हैं। R सम संख्या वाली मंक्िल पर रहिा है लेककि M के ऊपर रहिा है। G और एक IAS व्यक्ति के बीच िीि व्यक्ति रहिे हैं। M 
लेखाकार िहीं है। क्िििे व्यक्ति डॉतटर के ऊपर रहिे हैं, उििे ही छात्र के िीचे रहिे वाले व्यक्ति हैं। T और शशक्षक के बीच केवल एक
व्यक्ति रहिा है। वह व्यक्ति िो वकील है, N के ठीक िीचे रहिा है। N के िीचे रहिे वाले क्िििे व्यक्ति शशक्षक हैं, उििे ही ऊपर रहिे हैं।
वह व्यक्ति िो आयुति है, M के ठीक ऊपर रहिा है। ि िो F और ि ही V वकील है। F, V . के ऊपर रहिा है
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Eight persons F, G, P, R, M, N, V and T live in eight 
different floors. Lowermost floor is numbered 1, 
above the floor is numbered 2, and so on till the 
topmost floor is numbered as 8. Each of them is in a 
different profession. Their professions are Lawyer, 
Teacher, IAS, Student, Doctor, Accountant, 
Commissioner and Manager. All the above 
information is not necessarily in the same order.
M lives on even numbered floor. The one who is an 
Accountant lives on the second floor. Two persons 
live between R and the one who is a student. R lives 
on even numbered floor but above M. Three persons 
live between G and the one who is an IAS. M is not 
an accountant. As many persons living above the 
one who is a doctor is same as below the one who is 
a student. Only one person lives between T and the 
one who is a teacher. The one who is a lawyer lives 
immediately below N. As many persons living below 
N is same as above the one who is a teacher. The 
one who is a commissioner lives immediately above 
M. Neither F nor V is a lawyer. F lives above V.

http://www.mahendras.org/


FOR MORE DISCOUNT VISIT www.mahendras.org & USE PROMO CODE : E14727

Who among the following person is a student?
निम्िशलखखि में से कौि छात्र है?
A) F
B) N
C) P
D) V
E) None of these
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Which of the following statement is true?
निम्िशलखखि में से कौि सा कथि सत्य है?
A) The one who is a doctor lives below M
B) Two persons live between F and the one who is a doctor
C) As many persons live above G is same as below P
D) More than three persons live between P and the one who is a 
commissioner
E) Both (c) and (d)
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How many persons live between F and the one who is an IAS?
F और एक IAS व्यक्ति के मध्य ककििे व्यक्ति रहिे हैं?
A) One
B) Two
C) Three
D) Four
E) None of these
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If G is related to commissioner, T is related to Accountant, in the same way, M 
is related to which of the following?
यदद G आयुति से सबंंधधि है, T लेखाकार से सबंंधधि है, उसी प्रकार M निम्िशलखखि 
में से ककससे सबंंधधि है?
A) IAS
B) Teacher
C) Manager
D) Lawyer
E) None of these
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Who among the following person lives immediately below the one who is a doctor?
निम्िशलखखि में से कौि डॉतटर के ठीक िीचे रहिा है?
A) M
B) R
C) T
D) V
E) None of these
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Read the following information carefully and answer the questions given below.
Eight persons I, J, K, L, M, N, O and P are sitting around a circular table. Two 
of them facing outwards and rest are facing towards the centre but not 
necessary in the same order.
O sits third to the left of M. The immediate neighbours L are facing outwards. 
K sits second to the right of J and is facing outwards. N sits to the immediate 
right of I and sits fourth to the left of J. P, who is an immediate neighbour of J, 
sits second to the left of I. L is an immediate neighbour of J and K. M is an 
immediate neighbour of K.

निम्िशलखखि िािकारी को ध्यािपूववक पढें और िीचे ददए गए प्रश्िों के उत्तर दें।
आठ व्यक्ति I, J, K, L, M, N, O और P एक वतृ्ताकार मेि के चारों ओर बैठे हैं। उिमें से दो बाहर की ओर उन्मुख हैं
और शषे कें द्र की ओर उन्मुख हैं लेककिआवश्यक िहीं इसी क्रम में हों।
O, M के बायें से िीसरे स्थाि पर बैठा है। निकटिम पडोसी L का मुख बाहर की ओर है। K, J के दायें से दसूरे
स्थाि पर बैठा है और बाहर की ओर उन्मुख है। N, I के ठीक दायें बैठा है और J के बायें से चौथे स्थाि पर बैठा है।
P, िो J का निकटिम पडोसी है, I के बायें से दसूरे स्थाि पर बैठा है। L, J और K का निकटिम पडोसी है। M 
निकटिम पडोसी है के.
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Read the following information carefully and answer the questions given below.
Eight persons I, J, K, L, M, N, O and P are sitting around a circular table. Two of 
them facing outwards and rest are facing towards the centre but not necessary 
in the same order.
O sits third to the left of M. The immediate neighbours L are facing outwards. K 
sits second to the right of J and is facing outwards. N sits to the immediate right 
of I and sits fourth to the left of J. P, who is an immediate neighbour of J, sits 
second to the left of I. L is an immediate neighbour of J and K. M is an immediate 
neighbour of K.
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Who among the following sits third to the right of N?
निम्िशलखखि में से कौि N के दायें से िीसरे स्थाि पर बैठा है?
a) P
b) O
c) L
d) K
e) M
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How many persons are sitting between M and J, when counted in anticlockwise 
direction from M?
M से वामाविव ददशा में धगििे पर M और J के मध्य ककििे व्यक्ति बैठे हैं?
a) Three
b) Four
c) Five
d) Two
e) One
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Who among the following is an immediate neighbour of both P and I?
निम्िशलखखि में से कौि P और I दोिों का निकटिम पडोसी है?
a) N
b) K
c) L
d) O
e) J
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Four of the following five are alike in a certain way and hence form a group. 
Which one of the following that does not belong to the group?
निम्िशलखखि पांच में से चार एक निक्श्चि िरीके से समाि हैं और इसशलए एक समहू 
बिािे हैं। निम्िशलखखि में से कौि सा समहू से सबंंधधि िहीं है?
a) PL
b) KN
c) IM
d) JK
e) ON
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Which of the following statements is true?
a) Only two persons are sitting between P 
and M
b) I faces L
c) O is an immediate neighbour of K
d) M sits second to the right of L
e) None is true

निम्िशलखखि में से कौि से कथि सत्य हैं?
a) P और M . के बीच केवल दो व्यक्ति बैठे हैं
b) मेरा मखु L . कीओर है
c) O, K . का निकटिम पडोसी है
d) M, L के दायें से दसूरे स्थाि पर बैठा है
ई) कोई भी सत्य िहीं है
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Eight persons A to H were born on eight different months of the same year i.e. February, 
March, April, May, June, July, November and December. A was born on the month having 30 
days but not on November. There is only one person born between A and the one who was 
born on June. E was the youngest person. Three persons were born between the one who 
was born on March and G. D was born immediately before G. C and F were born on 
consecutive months but F is not the elder one. B was not born in May.

आठ व्यक्ति A से H एक ही वषव के आठ अलग-अलग महीिों यािी फरवरी, माचव, अप्रैल, मई, 
ििू, िलुाई, िवंबर और ददसबंर में पैदा हुए थे। A का िन्म 30 ददि वाले महीिे में हुआ था 
लेककि िवंबर को िहीं। A और ििू को िन्म लेिे वाले के बीच केवल एक व्यक्ति का िन्म 
हुआ है। E सबसे छोटा व्यक्ति था। माचव को िन्म लेिे वाले और G के बीच िीि व्यक्ति पैदा 
हुए थे। D, G के ठीक पहले पैदा हुआ था। C और F लगािार महीिों में पैदा हुए थे लेककि F बडा 
िहीं है। B का िन्म मई में िहीं हुआ था।
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Eight persons A to H were born on eight 
different months of the same year i.e. 
February, March, April, May, June, July, 
November and December. A was born on 
the month having 30 days but not on 
November. There is only one person born 
between A and the one who was born on 
June. E was the youngest person. Three 
persons were born between the one who 
was born on March and G. D was born 
immediately before G. C and F were born 
on consecutive months but F is not the 
elder one. B was not born in May.
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.Who among the following person was born on April? 
निम्िशलखखि में से ककस व्यक्ति का िन्म अप्रैल को हुआ था?

a) G b) D c) H d) C e) A

.How many persons were born between H and C? 
H और C के बीच ककििे व्यक्ति पैदा हुए थे?

a) 1 b) 2 c) 3 d) 4 e) None of these

.Who among the following was born on July? 
निम्िशलखखि में से ककसका िन्म िलुाई को हुआ था?

a) E b) D c) C d) G e) None of these
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.Four of the following five are alike in a certain way and hence they form a 
group. Which one of the following does not belong to that group? निम्िशलखखि 
पांच में से चार एक निक्श्चि िरीके से समाि हैं और इसशलए वे एक समूह 
बिािे हैं। निम्िशलखखि में से कौि सा उस समूह से संबंधधि िहीं है?
a) The one who was born on March 
b) The one who was born on May 
c) The one who was born on February 
d) The one who was born on July 
e) The one who was born on December

.Which of the following statements is true about E? निम्िशलखखि 
में से कौि सा कथि E के बारे में सत्य है?
a) E was born on December 
b) E was born immediately after B 
c) Only one person was born between E and G 
d) None is true 
e) All are true
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Evelyn starts walking from point Z towards the north. After walking 4 metres, she 
reaches point A. From point A, she starts moving towards the east and covers 6 meters 
to reach point B. From point B, she moves towards the north and covered 4 metres to 
finally reach point D. Point C is midway between A and B.

एवशलि बबदं ुZ से उत्तर की ओर चलिा शुरू करिी है। 4 मीटर चलिे के बाद, वह बबदं ुA 
पर पहुुँचिी है। बबदं ुA से, वह पूवव की ओर बढिा शुरू करिी है और बबदं ुB िक पहुुँचिे 
के शलए 6 मीटर की दरूी िय करिी है। बबदं ुB से, वह उत्तर की ओर चलिी है और अंि 
में बबदं ुD पर पहुुँचिे के शलए 4 मीटर की दरूी िय करिी है। बबदं ुC A और B के बीच में 
है।
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What is the distance between the initial and final 
point? 
प्रारंशभक और अंनिम बबदं ुके बीच की दरूी तया है?
A. 30m 
B. 40 m 
C. 10m 
D. 60m 
E. None of these

. Point C is in which direction with respect to 
point A? 
बबदं ुA के सन्दभव में बबदं ुC ककस ददशा में है?
A. North - West 
B. East 
C. West 
D. South 
E. North

What is the distance between point C and 
point D?
बबदं ुC और बबदं ुD के बीच की दरूी तया है?
A. 8m 
B. 3m 
C. 4m 
D. 5m 
E. None of these
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Statements: 
R < V < Q = T > W 

Conclusion: 
I. R < T 
II. Q > W

A. If only conclusion I follows 
B. If only conclusion II follows. 
C. If either conclusion I or II follows. 
D. If neither conclusion I nor II follows. 
E. If both conclusions I and II follow.

T > W > U = R < H 
A. T > U 
B. W < H 
C. R = H 
D. H < W 
E. None of the above

S = H < O < R = T 
A. H > R 
B. O = T 
C. S > T 
D. H > T 
E. None of the above.

In the following questions assuming the given statement to be true, find which of the 
conclusion(s) among given conclusions is/are definitely true and then give your answers 
accordingly.
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. How many meaningful words can be formed using the 1st, 3rd, 5th and 11th 
letters of the word INHERITANCE using each letter only one in the word?

शब्द INHERITANCE के पहले, िीसरे, 5वें और 11वें अक्षरों का प्रयोग करके ककििे 
अथवपूर्व शब्द बिाए िा सकिे हैं?
A. 1 
B. 2 
C. 3 
D. 4 
E. None
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Study the following information and answer the questions that follow. 

In a family, P is married to Q. R is the only sibling of Q. S is the only nephew of R. R 
is unmarried. T is the grandfather of S. U is the only son of T. T is married to V.

एक पररवार में, P, Q से वववादहि है। R, Q का इकलौिा सहोदर है। S, R का इकलौिा 
भिीिा है। R अवववादहि है। T, S का दादा है। U, T का इकलौिा पुत्र है। T का वववाह V 
से हुआ है।
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. If U is married to X, then what is the relationship of X with respect to V? 
यदद U, X से वववादहि है, िो V के सबंंध में X का तया सबंंध है?
A. Son B. Son-in-law C. Daughter-in-law D. Daughter E. None of these

. How is P related to S? 
P, S से ककस प्रकार सबंंधधि है?
A. Mother B. Father C. Uncle D. Brother E. Sister

. How is Q related to P 
Q, P . से ककस प्रकार सबंंधधि है?
A. Sister B. Father C. Wife 
D. Husband E. None of the above
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Eight persons A, B, C, D, E, F, G, and H are seated in a linear row, some of them are facing 
North while others are facing South. H sits second to the left of E, who sits at an end of the 
row. D sits to the immediate right of A, who faces the South. C sits second to the left of D, 
who faces the same direction as E. H, who is not an immediate neighbour of A, faces the 
opposite direction of E. F, who is not a neighbour of E or H, faces the opposite direction of 
C. B faces the South. G sits second to the right of B. E and G face the same direction. C and 
D do not face the same direction. E and G does not sit adjacent to each other.

आठ व्यक्ति A, B, C, D, E, F, G, और H एक रैखखक पंक्ति में बैठे हैं, उिमें से कुछ उत्तर कीओर उन्मखु
हैं िबकक अन्य दक्षक्षर् कीओर उन्मखु हैं। H, E के बाएं से दसूरे स्थाि पर बैठा है, िो पंक्ति के अिं में
बैठा है। D, A के ठीक दायें बैठा है, क्िसका मखु दक्षक्षर् कीओर है। C, D के बाएं से दसूरे स्थाि पर बैठा
है, क्िसका मखु E के समाि ददशा की ओर है। H, िो A का निकटिम पडोसी िहीं है, E की ववपरीि ददशा
की ओर उन्मखु है। F, िो E या H का पडोसी िहीं है, का मखु ववपरीि ददशा में है। C की ददशा B का मखु
दक्षक्षर् कीओर है। G, B के दायें से दसूरे स्थाि पर बैठा है। E और G समाि ददशा की ओर उन्मखु हैं। C 
और D समाि ददशा की ओर उन्मखु िहीं हैं। E और G एक दसूरे के आसन्ि िहीं बैठे हैं।
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Eight persons A, B, C, D, E, F, G, and H are 
seated in a linear row, some of them are facing 
North while others are facing South. H sits 
second to the left of E, who sits at an end of the 
row. D sits to the immediate right of A, who 
faces the South. C sits second to the left of D, 
who faces the same direction as E. H, who is 
not an immediate neighbour of A, faces the 
opposite direction of E. F, who is not a 
neighbour of E or H, faces the opposite 
direction of C. B faces the South. G sits second 
to the right of B. E and G face the same 
direction. C and D do not face the same 
direction. E and G does not sit adjacent to each 
other.
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How many people are facing North? ककििे व्यक्ति उत्तर की
ओर उन्मखु हैं?
A. 3 B. 4 C. 5 D. 2 E. None of the above

Who among the following sits third to the right of B?
निम्िशलखखि में से कौि B के दायें से िीसरे स्थाि पर बैठा है?
A. D B. A C. F D. C E. None of the above

Four of the following five are alike in a certain way and thus 
form a group. Find the one that does not belong to the group? 
निम्िशलखखि पांच में से चार एक निक्श्चि िरीके से समाि हैं 
और इस प्रकार एक समहू बिािे हैं। वह खोिें िो समहू से 
सबंंधधि िहीं है?
A. C – F B. D - A C. B – H D. F – C 
E. A – G 
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Which of the following statements are correct? 
निम्िशलखखि में से कौि से कथि सही हैं?
A. D sits fourth to the right of E 
B. C is an immediate neighbour of G 
C. F sits second to the left of H. 
D. B faces the same direction as C 
E. None is true.

.Who among the following sits fifth to the left of C?
निम्िशलखखि में से कौि C के बायें से पांचवें स्थाि पर 
बैठा है?
A. H B. B C. A D. E E. None of the above
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Nine persons – A, B, C, D, E, F, G, H and I worked 
in a company. They hold different positions –
Clerk (CL), AM (Assistant Manager), MG 
(Manager), DGM (Deputy General Manager), GM 
(General Manager), CGM (Chief General 
Manager), Head of Department (HOD), ED 
(Executive Director) and CEO (Chief Executive 
Officer). The positions given are in increasing 
order of seniority. CL is the juniormost and so on 
till the CEO is the senior-most. I is senior than the 
one who is HOD. Two ranks are there between I 
and F. Three ranks are there between F and G 
who is not the senior most employee. Number of 
persons are senior than G is same as number of 
persons junior than H. D is just junior than H. C is 
just senior than E. More than two persons are 
junior than E. B is not the least junior.

िौ व्यक्ति - A, B, C, D, E, F, G, H और I एक कंपिी
में काम करिे हैं। वे ववशभन्ि पदों पर हैं - तलकव
(सीएल), एएम (सहायक प्रबंधक), एमिी (प्रबंधक), 
डीिीएम (उप महाप्रबंधक), िीएम (महाप्रबंधक), 
सीिीएम (मुख्य महाप्रबंधक), ववभाग प्रमुख
(एचओडी), ईडी ( कायवकारी निदेशक) और सीईओ
(मुख्य कायवकारी अधधकारी)। ददए गए पद वररष्ठिा
के बढिे क्रम में हैं। सीएल सबसे िूनियर है और इसी
िरह िब िक सीईओ सबसे वररष्ठ है। I उस व्यक्ति
से वररष्ठ है िो HOD है। I और F के बीच दो रैंक हैं। F 
और G के बीच िीि रैंक हैं, िो सबसे वररष्ठ
कमवचारी िहीं है। G से वररष्ठ व्यक्तियों की संख्या H 
से कनिष्ठ व्यक्तियों की संख्या के समाि है। D, H 
से केवल कनिष्ठ है। C, E से ठीक वररष्ठ है। E से दो
से अधधक व्यक्ति कनिष्ठ हैं। B सबसे छोटा िहीं है।
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Nine persons – A, B, C, D, E, F, G, H and I worked 
in a company. They hold different positions –
Clerk (CL), AM (Assistant Manager), MG 
(Manager), DGM (Deputy General Manager), GM 
(General Manager), CGM (Chief General 
Manager), Head of Department (HOD), ED 
(Executive Director) and CEO (Chief Executive 
Officer). The positions given are in increasing 
order of seniority. CL is the juniormost and so on 
till the CEO is the senior-most. I is senior than the 
one who is HOD. Two ranks are there between I 
and F. Three ranks are there between F and G 
who is not the senior most employee. Number of 
persons are senior than G is same as number of 
persons junior than H. D is just junior than H. C is 
just senior than E. More than two persons are 
junior than E. B is not the least junior.
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How many persons are senior to C? 
C से ककििे व्यक्ति वररष्ठ हैं?
A. One B. Three C. None D. Four E. Two 

Who amongst the following is the DGM? 
निम्िशलखखि में से कौि डीिीएम है?
A. F B. E C. C D. A E. B 

How many ranks are there between the rank of D and C? 
D और C के रैंक के बीच ककििे रैंक हैं?
A. Three B. Five C. Four D. One E. 
None
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.Which of the following is the designation of I in the company?
कंपिी में I का पदिाम निम्ि में से कौि सा है?
A. ED B. CEO C. HOD D. CGM E. None of these 

Four of the following five are alike in a certain way and thus 
forms a group. Find the one that does not belong to the group? 
निम्िशलखखि पांच में से चार एक निक्श्चि िरीके से समाि हैं 
और इस प्रकार एक समहू बिािे हैं। वह खोिें िो समहू से 
सबंंधधि िहीं है?
A. G-AM B. E-DGM  C. C-GM  D. H-HOD  E. F-CGM
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